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Answer the following guestions:

|11 For the system in Fig. (1), Fi=F, = 10.0 N, F;=20.0 N and Fy=20/2 M. A free
couple of magnitude G,=30.0 N.m acts on the face ABDH in the direction shown.

(a) find of the resultant.
(b) find the vector expression of the couple G;.
(¢) find the moment of the force F; about the Z-axis.

(d) find the couple formed by the two forces F,and F».

[2] If the resultant couple of the system in Fig. (2) equels zern, find the value of F.

[3] Determine the tension in the cable AB for the system shown in Fig. (3). Assumc all
surfaces are smooth.

[4] For the system shown in Fig. (4), the beam OD has a spherical hinge at O, neglect
the weight of all members and wires, {ind: : ot

(a) the tension in the wire HD.
(b) the force on the hinge at E.
(¢) the tension in the wires CD and BD.
[5] The lamina shown in Fig. (5) has a density of 2.0 kg/m”. A particle mg=4.0 kg is
located at point A as shown, Find:
(a) the coordinates (%, ) of the center of mass.
(b) the moment of inertia (Ty).
(c) the moment of inertia (Iyy).

(d) the radius of gyration (io).
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